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झारखंड शैͯ ¢क अनुसंधान एव ंĤͧश¢ण पǐरषɮ, राँची (झारखंड) 
(Jharkhand Council of Educational Research and Training, Ranchi 

(Jharkhand) 

ɮͪवतीय सावͬधक परȣ¢ा : 2021-2022 

Second Terminal Examination: 2021-2022 

मॉडल Ĥæन-पğ  

Model Question-paper  

सेट-3 (Set- 3) 

वग[ -  11 

(Class -11) 
ͪवषय – वाͨणिÏयक अकंगͨणत 

(Sub – Commercial Arithmetic) 

पूणाɍक - 40 
(F.M - 40) 

समय – 1 घंटा 30 ͧमनट। 

(Time -1hour 30 minutes) 
 

सामाÛय Ǔनदȶश- (General Instruction)  

 परȣ¢ाथȸ यथासभंव अपने शÞदɉ मɅ उƣर दɅ। (Examinee write answer in their own 
words as far as practicable.)  

 कुल Ĥæनɉ कȧ संÉया 19 है। (The total number of questions is 19) 
 Ĥæन संÉया 1 स ेĤæन संÉया 7 तक अǓत लघु उƣरȣय Ĥæन हɇ। इनमɅ से ͩकÛहȣं पाँच Ĥæनɉ 

के उƣर एक वाÈय मɅ दȣिजए। Ĥ×येक Ĥæन का मान 1 अकं Ǔनधा[ǐरत है। (Question 1 to 
Question 7 are very short answer type questions. Answer any five of these 
questions in one sentence. Each question carries 1 mark.) 

 Ĥæन संÉया 8 स ेĤæन सÉंया 14 तक लघु उƣरȣय Ĥæन हɇ। इनमɅ से ͩकÛहȣं 5 Ĥæनɉ के उƣर 
अͬधकतम 50 शÞदɉ मɅ दȣिजए। Ĥ×येक Ĥæन का मान 3 अंक Ǔनधा[ǐरत है।(Question 8 to 
Question 14 are short answer type questions. Answer any five of these 
questions in at most 50 words. Each question carries 3 marks.) 

 Ĥæन संÉया 15 स ेĤæन संÉया 19 तक दȣघ[ उƣरȣय Ĥæन हɇ। इनमɅ से ͩकÛहȣं तीन Ĥæनɉ के 
उƣर अͬधकतम 150 शÞदɉ मɅ दȣिजए। Ĥ×येक Ĥæन का मान 5 अकं Ǔनधा[ǐरत है।(Question 
15 to Question 19 are long answer type questions. Answer any Three of 
these questions in at most 150 words. Each question carries 5 marks.) 
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Group- A 

1) ͩकसी वèतु का लागत मूãय ₹750 और ͪवĐय मूãय ₹1000 है तो लाभ का ĤǓतशत Èया 

होगा? 

If the cost of an article is ₹ 750 and the sale price is ₹ 1000 what will be 

the profit percentage? 

2) जमीन का एक टुकड़ा दलाल के ɮवारा ₹1,20,000 मɅ बेचा जाता है | दलाल को 5% कȧ 

दर से दलालȣ दȣ जाती है ͪवĐेता एवं दलाल को ͩकतना - ͩकतना ͧमला? 

A piece of land is sold for Rs 1,20,000 by a broker . The broker is allowed 

brokerage at 5%. Find the amount received by the seller and the broker. 

3) एक क¢ा मɅ 54 लड़के और 36 लड़ͩकयां हɇ लड़ͩकयɉ का ĤǓतशत बताएं | 

There are 54 boys and 36 girls in a classroom what is the percentage of 

girls? 

4) यǑद ₹2000 पर 6 वष[ के ͧलए ₹480 Þयाज ĤाÜत होता है तो Þयाज कȧ दर Èया होगी? 

What will be the rate of interest if an amount of ₹ 2000 gives an interest 

of ₹ 480 in 6 years? 

5) ₹10000 मãूय पर अंͩकत एक ͧसãक साड़ी ₹9000 मɅ बेच दȣ गई बɪटे कȧ दर बताएं | 

A Silk saree is sold for ₹ 9000 whose list price is ₹10000 find the rate of 

discount. 

6) 4/5 को ĤǓतशत मɅ åयÈत करɅ | 

Express 4/5 into percentage. 

7) Þयाज Ǔनकाले जहां ͧमĮधन ₹7800 और मूलधन ₹6500 है | 

Find interest where principal is ₹ 6500 and amount is ₹ 7800. 

 

Group-B 

8) एक åयिÈत एक अलमीरा ₹3100 मɅ खरȣदता है और इस पर ₹100 ऊपरȣ åयय के Ǿप मɅ 

खच[ करता है ͩफर इसे ₹4000 मɅ बेच देता है उसके लाभ का ĤǓतशत बताएं | 
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A man buys an almirah for ₹ 3100 and spends overhead ₹ 100 and sells it 

for ₹ 4000. Find his profit percentage. 

9) एक दकुानदार वèतुओं पर 20% और 10% बɪटा देता है तो इसके समतुãय बɪटा Èया 

होगा? 

A shopkeeper allows discount of 20% and 10% what will be the equitable 

discount? 

10)  एक शहर कȧ आबादȣ का 54% िèğयां हɇ यǑद उस शहर मɅ 6670 पुǽष हो तो कुल 

आबादȣ Ǔनकाͧलए | 

There are 54% females in a city if the city has 6670 males, find the total 

population. 

11)  4 वषɟ मɅ ͩकस ĤǓतशत कȧ दर से ₹ 2250 मूलधन का ͧमĮधन ₹ 2520 हो जाएगा? 

By what rate percent a sum of ₹ 2250 will amount to ₹ 2520 in 4 years? 

12)  150 आमɉ को बेचने स ेएक फल ͪवĐेता को 30 आमɉ कȧ कȧमत के बराबर लाभ होता है 

तो लाभ का ĤǓतशत Èया होगा? 

A fruit seller gets a profit equal to the cost of 30 mangoes by selling 150 

mangoes what will be his percentage profit? 

13)  यǑद चीनी पर 25% कर बढ़ा Ǒदया जाए तो चीनी के खच[ मɅ ͩकतने ĤǓतशत कमी कर दȣ 

जाए ͩक ͩकसी आदमी के åयय मɅ वɮृͬध ना हो? 

If the tax on Sugar is increased by 25% then how much consumption in 

percentage be reduced so as not to increase the total expense of a man? 

14)  10% वाͪष[क Þयाज कȧ दर से ₹40,000 का 4 वष[ के बाद ͧमĮधन ͩकतना होगा? 

What will be the amount of ₹ 40,000 after 4 years at the rate of 10% per 

annum interest? 

Group- C 

15)  एक åयापारȣ ने 40 ͩकलोĒाम कȧ उƣम चाय मɅ 60 ͩकलोĒाम साधारण चाय को ͧमला 

Ǒदया | ͧमĮण को ₹ 20 ĤǓत ͩकलोĒाम बेच कर उसने लागत पर 25% लाभ कमाया | 
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दोनɉ Ĥकार कȧ चाय का लागत मूãय ǓनकालɅ यǑद उनके मूãय मɅ ₹2 ĤǓत ͩकलोĒाम का 

अंतर हो | 

A Merchant mixes 40 kg of superior tea in 60 kg of inferior tea. The 

mixture is sold at ₹ 20 per kg and he makes a profit of 25% on cost. Find 

the cost price of both types of Tea if there is a difference of Rs 2 in their 

price. 

16)  दो दकुानदार एक हȣ वèतु एक हȣ सूची मूãय पर बेचते हɇ  | Ĥथम दकुानदार 25% तथा 

15% बɪटा देता है जबͩक दसूरा दकुानदार 10% तथा 30% बɪटा देता है | कौन सा सौदा 

अͬधक लाभदायक है? 

Two shopkeepers sell the same goods at same list price. First shopkeeper 

gives discount 25% and 15% and the second one gives discount 10% and 

30% which is more profitable for buyer? 

17)  कुल धन 3 लड़कɉ मɅ इस Ĥकार ͪवभािजत ͩकया जाता है ͩक Ĥथम पुğ को कुल का 25% 

ĤाÜत हो,  ɮͪवतीय पुğ को शेष का 40% ĤाÜत हो तथा बाकȧ ततृीय पğु को ĤाÜत हो | 

यǑद ततृीय पुğ को ₹45000 ĤाÜत होता है तो ͪवभािजत कȧ जाने वालȣ रकम तथा Ĥथम 

एवं ɮͪवतीय पुğ के Ǒहèसे का धन बताएं | 

The total wealth is distributed among three sons in such a way that the 

first son gets 25% of the total. The Second Son gets 40% of the remaining 

and the balance is given to the third son. If the third son gets ₹ 45,000 . 

Find the total amount and the share of first and second son. 

18)  एक मनुçय ͩकसी बɇक मɅ जनवरȣ से Ĥारंभ करके Ĥ×येक महȣने के पहले Ǒदन ₹600 जमा 

करता है यǑद Þयाज कȧ दर 6% वाͪष[क साधारण हो तो 6 महȣने के बाद उसके खाते का 

कुल जमा धन बताएं | 

Starting from January a man starts depositing ₹ 600 from the first day of 

every month. Find the total balance of his account after 6 months if simple  

interest is 6% per annum. 
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19)  एक फोटोĒाफर ͩकसी फोटो कȧ पहलȣ 6 ĤǓतयां ₹ 60 मɅ और 12 ĤǓतयां ₹100 मɅ बेचता 

है िजस पर उस ेĐमशः ₹20 और ₹40 का लाभ होता है तो वह 30 ĤǓतयɉ को ͩकस दर से 

बेचे ͩक उस े₹ 80 लाभ हो? 

A photographer sells first 6 copies of a photo at ₹ 60 and 12 copies at ₹ 

100 on which he makes a profit of ₹ 20 and ₹ 40 respectively. At what 

price he should sell 30 copies of photos to make a profit of ₹ 80? 


